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Exam Style Questions

Simultaneous Equations *

Linear and Non-linear CorbettmOtths

Equipment needed: Pen, Calculator

\ y

Guidance

1. Read each question carefully before you begin answering it.
2. Check your answers seem right.
3. Always show your workings

f Video Tutorial
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Solve the equations
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2. Solve the equations
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tilen. 229
Solve the simultaneous equations 790 — y s F
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b. Solve the equations

x+2y=3

x2+3xy =10
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Solve the equations
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2x +y =11

2x% —y2 =23
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7. Solve the equations

x2+y?=25
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Find the coordinates of the points where the line y = 2x — 2 and the curve
y = x2 — 5 intersect.
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Solve the equations

x“=y =7 \j“’ﬁ
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. How many points of intersection does the circle x? + y% = 18 have with the line
Ely x+y=67?
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. Solve the equations

x2+y2=45
5x -3y =21
917
Give your answers to 1 decimal place. j - R
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12. Flnd the coordinates of the points where the line y = 3x — 3 and the curve
2/ y = 2x%— 8x + 2 intersect.

11" g+ = AL -0
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13.  Solve the equations

y=3x>+8x-9
2x+y=15

Give your answers to 1 decimal place.

o~

IR A AR B

TS S R O A

e f b b
1= h//~’—~”‘

-
' ~(oiW
e e e e
b
- - ot 749
1 ‘E;/bff/f‘:
7“: "(O{/ﬁ% o /i/: blg;’é’ﬁz
6 o,
e flh [T T B A R
1> k9 or
p= b X=fq 2 ye ql g
®)
g - 1l
ke 1«”7'(7' WIS R
y= (117 g 2519

© Corbettmaths 2024



